sominr [ESRT A z

1 xostmzes.
1) a*Xa*Xa 2 {(a®?}®
(3) (—2x%)? @) (—6ab?)?+ (—3a%b)

2 KkoMvIcEZ k.
(1) 2x2—3x—5#%5[< & x*—1I12% 22K L,
(2) —=3x*+5x—12551< &—2x* 127 58X EKD L,

3 A=—3x*+x—5 B=x?+2x+1, C=—x*—x+10D¢ %, kOX+HEW L,
2A—{A-3(=B+2C)}

1 K148 x4
2 #1458 %2
3 &Kl6m x1

o




smiar fEERT A M2 z

1 xoxzmEmEer.
(1) (Bx—4) (x—2) (2) (2x—3)3
(3) (x+5) (x2—5x+25) 4) (x2—2x—3)?

2 KOKE EEHHE L,
(1) a*+4a—12 (2) 4x*—8xy—+3y?
(3) 125—27«° @ (x+y)?—5(x+y)—14

1 %120 x4 /
2 134 x4 100




S 18F ﬁEquZ 3 2

1 ®omBUNGE ST,
1 02 (2) 0.63 (3) 0.234

2 KDEZNEND a OEIHL T, |a—3] ok s k.
(1) a=10 2) a=3 (3) a=-5

3 xostpzres,

(1) v20— /125 2) 24+ y14% V63
3 (V5 +24/2) (V5 —-V2) 4 J6—v2 J6—V8
/3 J12
& =&
1 &85 x3

2 #%8mM x3 /
3 K138 x4 100




@
it
ford
SN2

==

i

&

NI

A

DS

3

1 %01 xrztem,
(1) 5x—3>2x+9 (9) 22 x—1

2 ROBURER MW,
{5x+2<3x+5
4x—9=<8x+3

3 9 — Tx+1

5 <13 IZHhTIEED x DED S b, BOBEKIIMED 52,

4 ko TERERT,

() |3x—2|=7 @) |x—5|+2x<4

1 &1641x2

2 16sx1

3 16xix1

4 (11647, (2)205%




.
saine fEERT A B |,

1 15202 coassnEaz NeL, A B C%NOBAESLT 5, A3 0ERD
FTRCODES, B 5DEHROTNTCOES, CIlRTOEENDTRTHELETE, EE4S nFEE
D E n(S) TET & E, koMwizER L.

(1) n(A), n(B), n(C) ¥ ZhZhkDH L,
@ #(ANB), n(ANBNC) # #h2hks k.

2 ko ok, [BE, [+5), (RB+] 09 b, bTIESbOEARL
(1) x=1i3, 2*—2x+1=0Thr7dn [__| &MHTh b,
2) ZABD2ALFFLWI L, ZARSZHEAZARTHELH0 [ 1 EHETHY), E=
A THBHD [ | &MHThH D,

3 kowmEow - B - NELE<E, F7, FOEBEESL,
(1) x=27%56iF, x*—4=0
2) H2HE nHIDEELHIE, nid 3 DEH
(3) a>0h2b>07%biE, ab>0

1 &1l x2

2 %134 %3 /
3 %131 x3 100




sominr [EERT A N6 z

1 ko 2w, 70, F(-1), fla) 2k &,
1) Fx)=2x+3 2) fx)=—x+1

D KkOMEOEEE RS L, F 72, BAMEBMEE RS L,
(1) y=2x—3 (0=x=2) @2) y=—x+2 (—2=x=3)

3 komEn 77725
1 y=x"—2 (—1=x=2) @ y=lx| (—25x=2)

1 &168 %2
2 %16 %2
3 K18M %2

o




1 komwgomo R, FEROEER KD, 20757 %M.
(1) y=@-2)7%-7 (2) y=—%(x—2)2+3

D i y=—x* 2RO LI IFABBL LIS T T T OFRRERD L,
(1) xEFEIC —2, y BT 1 (2) TEED(—1, 3) 2% b

1 K250 %2
2 K255 %2

o




1 xommgosorE, BaomBEzr ks, 20757 %07,
(1) y=2x"—8x+7 2) y=—x2+2x—2

2 KoM k.
(1) 7977 x#liE (=1, 0), (2, 0) TEHY, yliE (0, 4 TEb2 LI % 2 KB # Kb &,
(2) TAAEA z#EICHD, 2.4 4 1), 0, 9) 285 &5 ZEIROHRRE R L.

1 #258%2 /
2 K25r(x2 100




Sp & 1#%

— — ?Jkg
ﬁEEﬂ.\TZ I\ 1 5=
1T o @« (2)

(3) —8x%y® (4) —125°

2 (1) A-(r—3x—5=x—1k"
A=3x*—3x—6

(2) —3x2+5x—1—A=—2x2 LY
A=—x*+5x—1

3 A-3B+6C
= —=3x*+x—5—3x2—6x—3—6x2—6x+60
=—12x?—11x+52



Sp & 1#%

ﬁEWb\j A I\ 2 e
1 @ 3x—10x+8

(2) 8x3—36x%+54x—27

3) x*+125

(4) x*—4x*—2x2+12x+9

2 1) (a—2) (a+6)

@) (2x—y) (2x—3y)
3) (5—3x) (25+15x+9x%)
) x+y=X &<,
X?—5X—-14=(X—-7) (X +2)
=(x+y—-T)(x+y+2)



Sp & 1#%

[#ERT A M3 &

-y
I

3 @ 2/5-5/5=-3/5

@ JEEB = aai=ey3

(3) 3(/5)2—y10+6y10—2(/2)2=11+5/10
(4) \/ﬁfx/?_w/E‘m
3 6

_6V2—2/6—-3/2+2/6 _ /2
6 2




Sp = 1%
[#EERT A N4 £

1 () 5x—3>2¢+910, 3x>12
T, x>4
@) WLE 6L T, 2(x+2)<3(x—1)
FD, 2x+4<3x—3 LT, x>T

-y
I

o {5x+2<3x+5 ------ )
4x—9<8x+3 - ®@

D) x<E @D, 223 EoT,
D, @OIEHPE KB &, —3§x<%

3 i>-9 I, Ao 8HE

4 (1) —7<3x-2<7, —5<3x<9, —%§x§3

(2) x<5NE&E, —x+5+2x<4
x<—1
x25NEE, x—5+2x<4
3x<9
x<3 ZHUIAGE,
o1, x<~-1



Sp & 1#%

(B2 A M5 &

1

2

3

=

==

-+d

(1) n(A)=66, n(B)=40, n(C)=28
(2) 1504&%E, 200+15=13 /KRN 5Lk,
n(ANB)=13
3X5X7=105 DfEHIZ, 200-105=1 4" 95 k
D, n(dNBNC)=1

(1) WEEA+5
(2) Bl LEEALy, B

(1) x=27%5iF, x*—4=0 =
W oxP—4=07 5(F, x=2 1%
B oxx27%60F, x¥—4=0 %
HME xP—40 % 51E, x=2 =
@) nHIDEELLIE, nlZ3nfEE B
W w3 OFEE L LT, niz9nEE 14
B o )0REE T LI, nld 30k
T, 1B
A w3 OEE TV HI1E, nid 9 Dk
HThw, E
3) a>02b>07% 51, ab>0
W ab>07%61E, a>05 b>0
B g=S0F4136507%51E, ab=0
ME ab=07% 513, as0F72103 5=0

oz



Sp& 1 #%
[#s2 5 A N6

W £O)=3 f(-1)=1, fla)=2a+3
2 fO)=1, f(=1)=2, fla)=—a+1

-y
I

2 W -3sys1 BAE1Gx=2),
Ml —3(x=0)
(2) —1=y<4, BAfH4(x=-2),
oMl —1(x=3)

(2) —2=x=0k %,
y=—Xx
0=x=2n ¢ X%,
y=x




Sp& 1 #%
{ERT A N7 fBE

T @ y=@Gx-22-7
WMOBRRL, x=2, FEAOME (2, —17)

+

(2) y:-—%(xﬂZ)“rB
KRR, x=2, HEOEE (2, 3)
(2 ¥

2 1 y-l=—{x—(=2)}2 k0",
y=—x>—4x—3
(2) y=—(x+12+3 &Y, y=—x>—2x+2



Sp & 1#%
f#EERT A N8| &

1 @ y=2-22-1
B HFERIE, x=2, EHEDEE (2, —1)

2) y=—(x—1)2—1
oo RN, x=1, THHOEBE (1, —1)

(1) Y

=

==

-+d

2 1) y=alx+l) (x—2) LT3,
x=0, y=4 2RAL T, a=—2
LT, y=—2x*+2x+4
(2) THEOMERZZ (p, 0) £ T2 &, BENR
3, y=alx—p)? &t EINL,
2804, 1), (0, 9 28255,
1=a(4—p)2--@, 9=ap*--@
DOX9—@& Y, 9a(d—p)2—ap?=0
BHLC, alp—3) (p—6)=0
a0 705, p=3, 6

QIFAL T, a=1, a:—i—
koT, y=x—3)2 LY, y=x*—6x+9
y:%(x—G)Z £, y=%x2-—3x+9



	春高1数確認テスト
	春高1数確認テスト解答

